New Maths GCSE: A19 - Linear and Quadratic Simultanec

Equations: Step-by-step

x?+y2=19
y=x+5

Which of the following is a correct next step
to solve these simultaneous equations?
Z4+y2=19

2 2 . x
x2+x2+25=19H V2 =x? 425

c 2_ x+y=+19
B2+x+5=190 Py

x2+ (x+5)2=19

Which of the following is a correct next step
to solve these simultaneous equations?

x*+x%+10x+ 25=19 B 2 +x2+10x+10=19

2+x2+10=19 ] x*+x2+25=19

x24+x24+10x+ 25=19

Which of the following is the best next step to
solve these simultaneous equations?
2x2+10x=—6 [ x+x+10=0

2x2+10x+6=0 [BJ 2x*+10x-6=0

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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2x24+10x+6=0

Having discovered it doesn’t factorise, Which

of the following is the best next step to solve
this equation?

-2 104 -4x1 =10+ 1(]2 4x12
B - 2T -t

10+ V102 —4x 12 102 —4x 12
& e = - A ———

—-10+ V102 -4 x 12
X =
4
Using your calculator, what are the two
solutions?
x = 0.541 x =-8.197
x =-=5.541 n x=-11.803
x =-0.697 x = —6.394
(6
. x =-—4.303 n x =—13.606
x2+y2=19
x = —0.697
x = —4303 y=x+5
simultaneous equations?
y = 4.303 y = —5.697
y = 0.697 B y =-9.303
y = 5.697 y =—4.303
c
. y =9.303 ﬂ y = —0.697

Which diagram
represents these
two equations?
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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